6-2 Notes.notebook December 17, 2012

Solve each proportion.
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3.  The area of a rectangle 1s 750 m2. The ratio of the width to
the length is 5:6. Find the width and the length.
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6-2 Using Proportions
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Ex 1 Inthe diagram, 4% _A4¢ | 2 <k
DE  DF T = —
Write four true proportions. 9 K
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Ex 2 In the diagram, U
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Find ST and V'T. S
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Ex.3  Inthe diagram, CB — %
BA EF
Find BA.
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Ex. 4 In the diagram, W — w
XV Zr
Find ZV.
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Ex. 5 In the diagram, =
CB BD

Find BD.

Ex. 6 In the diagram, & _ l

| SR TU
Find RQ.
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Ex 7  The scale of amap is 1 in :1440 ft. Find the actual
length of a street if the distance on the map is 3 inches.
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